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Question ID: | 1449659

Question Type:

Numeric Answer

300 cm Mgl @ER] e 6QI65REE 7159 Q 919 780 Q 9E6aI MQ° emf 4V @ I
69 AT 65419 B6¢1 8IS QDT | 6IEEFEE AT 61060 e 90 TGHe 9IEE

Question: p " 5 i
6EQE | emf 20 mV @ I 69m dim g (em a9 ) 60 em OIEG FIREM .
6UISTREE 99 9199 gEsax Q629 |

Topic: Physics-Section B

Item No: 60

Question ID: 1449660

Question Type:

Numeric Answer

0@ 2gAIa] Ief "L (9F) k9e° 2k g Yar P68 m 99R FRIGR 19T G (a)
66 @PR9 AIFRIR 35 9° 58 (b) 69 Jf5 5 27,6969 x @ IAY 2169 |

Question:
figure (b)
figure (a)
Topic: Chemistry-Section A
Item No: 61
Question ID: 1449661
Question Type: | MCQ

LSRR 69 0.34% NG 2R 61 &M 1 3.3 g @RS 69 2l Fe 9arlg] 9o
Q Al 620 1

Question: -
@&: Fe @ da¢llg 9% 6268 56 u |
96° N = 6.022 x 102 mol ™!,
1.21 x 10°

B: 12.0 x 1016




1.21 x 10%9

D: 3.4 x 1072
Topic: Chemistry-Section A
Item No: 62
Question ID: 1449662
Question Type: | MCQ
a2 ealFY g8 AGAIEA FARYE Gl 6TITH 9E TFER ATIE |
A. CaF,
B. CaCIE
Question: C. CaBr,
D. Cal, i
§¢) Sag g A0 RRT 918G :
A: BrA<E<h
B: A<B<C=<D
C: A<B<=D<=C
D: A<C<B<D
Topic: Chemistry-Section A
Item No: 63
Question ID: | 1449663
Question Type: | MCQ

Q2Ige 912 S8 & 919l XII 6441160 18¢1eg pH 8.26 @ 9U6 9941 J20 909lg
Q@Ieql | 21w 7161 U8 Aee T GRIA AR 0.2 M AsaFel 9adsa Aaiagig 2al
2SCIGLA CRIADS | AQLNE 620T |

Question:
ge@a: pKy (NH;) =4.74
NH; @ 661518 @28 = 17 g mol ™
NH,Cl @ 671519 2@ = 53.5 g mol ™!
A: 535¢
B: 723¢
C: 1070 ¢
D: 1260 ¢
Topic: Chemistry-Section A
Item No: 64
Question ID: | 1449664
Question Type: | MCQ




30°C 69 AB, QU6e @ 2F1g 6208 200 s 18° gl AB, @ 908 4196 @U6a a9

@66 712 | AB, @ 80% Q49T dI9 S 629831 204 6208 | (FRe99
Question: 'Eﬂﬁl QoG
@a: log 2=0.30
log3=0.48
A: 200 s
B: 323 s
C: 467 s
D: 532s
Topic: Chemistry-Section A
Item No: 65
Question ID: | 1449665
Question Type: | MCQ

G167 995 99R TRAKIPE : 6915 Q@Y A 9° 256 QIRd R 9196 qIds
FAULDE |
Q901 A:G9T 9FIQ 9F AR, Kdw A 2IPIQ IFEM U2l AV BI'sa F1R Ie°

Question: iy N
QR6aTER Gl 8 SRSl |
QRS R: F6R1MGIR 99419 e FRE 24T T10 TFES 2ERINE COTEFLY U6a
98 @69 | 8U6aI2 G596 2GR, 99019 AU 988 & AR Fg P48 @9F |
A: @@ A B R O 265 4e° R, A @ 90 QIS 263 |
B: 2@ A 8 R 0% 2165 99° R, A @ 40 Q4I64| §6% |
C: A O 269 @3 R 9 2169 |
D: A 9 266 @3 R OF 2169 |
Topic: Chemistry-Section A
Item No: 66
Question ID: 1449666
Question Type: | MCQ

e I dIRIQ IRl 213 @¢l e° YgIa 9dyigl a6 I8 6FISIRYe 6 Gaeea 21 |

Question: 25
clzlegag |

A: Al

B: Ga

C: Se

D: In




Topic:

Chemistry-Section A

Item No: 67
Question ID: 1449667
Question Type: | MCQ

Question: ARTIDEG 2EG 00 q Fedd ceergal 2Ig & 6203 |
QAT

B: Do

C: @

D: o

Topic: Chemistry-Section A

Iltem No: 68

Question ID: 1449668

Question Type: | MCQ

IDSLIERT 6TEAITIDG IQ° AgYE UTITAE ARCNFTIERT @ Yoaal @ Ag8el eqle

Question: A P
Jow 62aa |

A: Mn*". H,0 6ae®

B: Mn”", H,0 6@e%

C: Mn*". H,0. 0, 6a9q

D: Mn”". H,0. O, 689@

Topic: Chemistry-Section A

Item No: 69

Question ID: 1449669

Question Type: | MCQ
Gel69 996 @98 QRINIRE : 6015 9@PI A 1e° R4 § QIR R 1964 FIFS
FRAUADE |

Question: @@ol A: LiF 9060 98 @@fm | i
QIO R: Li” ZlIg@ @ SILIGS 24219 20 gd 994 AI9E FI6a 95019 I8 | 654
Q9019 @F VLA TR 2T |
RUCAIR T9E 2RIINEQ, A50I9 VUYS VRQ § IRE UG FUR KT |

A: 22 A R O% 2166 9a° R, A @ 90 Q4IsHl 2163 |

B: 2@ A 8 R 0% 266 99° R, A & 40@ S4I64 g6% |

C: A O% 265 @3 R @R 2169 |

D: A 9@ 266 @3 R OF 2169 |




Topic:

Chemistry-Section A

Item No: 70
Question ID: 1449670
Question Type: | MCQ

G760 Q9T G9R QIR : 6916 9Eol A Ie° 295 f19d R @196q QIT6
FRUDET |
Q@0 A: 69169 ¢, e 999 2] |

Question: QIQd R: 6516% 2] @ 6aq 9169 H™ 2I9e 9120 200189 866 917 Mgl e9¢ OH
Zlge 99 @6 e° H 2lgs 9Igie 969 |
206318 G948 2RIINER, A90IR QU 996 § A0F g SUF Kag |

A: 2a2 A G R 0@ 2169 9e° R, A @ 90 QYIS 2163 |

B: 2ae A 8 R 0% 266 99° R, A & 40@ Q4I64 g6% |

C: A 0% 266 @3 R @@ 263 |

D: A 9@ 266 @3 R O 2169 |

Topic: Chemistry-Section A

Item No: 71

Question ID: 1449671

Question Type: | MCQ

Question: 2SS Age QT G 26T, G191 6298 |

A: K;[Cu(CN),]

B K,[Cu(CN)y]

C: K;[Fe(CN)4]

D K,[FeCly]

Topic: Chemistry-Section A

Item No: 72

Question ID: 1449672

Question Type: | MCQ




A8 1g Ag I ag dni

aa1 @g 11
g9ae Qg6 99
A 97 EgeQ 130 dade
Question: B. GI8G a9l 11 GI5GIG Blaae
C. 38R 2Ig IIL qiQigda Qlo
D. Pla6ad IV. QIEIgfe e6gI6

goe GwE Fug 980 § oas Feg:

A: A-IL B-III. C-TV, D-I
B: A.II B-I. C-IV D-III
C: A-I. B-IV. C-I1. D-IIT
D: A.l. B-IV. C-II1. D-IT
Topic: Chemistry-Section A
Item No: 73

Question ID: 1449673

Question Type: | MCQ

IUPAC RI1904 093 Ag68 fAI0R (Re geas 97 29e grlig 8 208 g9

Question: s

62R8 |
A — COOH >— CONH, > —COCl > —CHO
B: — S0;H>—COCl>— CONH, > —CN
C: — COOR > —COCl>—NH, > >C =0
D: — COOH > — COOR > — CONH, > — COC(1
Topic: Chemistry-Section A
Item No: 74

Question ID: 1449674

Question Type: | MCQ

Question: GORSE g 689 § U8 695610 6dI5R G 921204 §6%?




®
S

C: |
o
.~ NH,

D: |
s

Topic: Chemistry-Section A

Item No: 75

Question ID: 1449675

Question Type: | MCQ

Question: cee 6aI0e @ 2Cd 66 Za0Se ISR 2] 6997
A queie
B QR GIRERIGLS 6RINIRG
C: 6QEIN SPADG
D PR GIRIR DGR
Topic: Chemistry-Section A
Iltem No: 76
Question ID: 1449676
Question Type: | MCQ
Ll‘ir
B0 —C—Hi0 — CH,cH,cN ) DIBAL-H
Question: ) (i) HyO
{Et iﬁ _CEHS]
2d6aIe goTdl § G910 @8 8 9gIe 57 AT @4 |
A OHC — HaC ﬁ CH,CH,CHO
0
B:

l
EtO — C — HyC @ CH,CH,CHO




0
I

C: EO —C — uzcﬁ CH,CH,COOH
D: OHC — H,C @— CH,CH,COOH
Topic: Chemistry-Section A

Item No: 77

Question ID: 1449677

Question Type: | MCQ

GCIDgel 06T U9 AGede gEea A0 ddvie 99 6294 |
NO, OH

Question: é] éj
NH, I
A HNO,, Fe/H". HNO,. KI, H,O/H"
B: HNO,. KI. Fe/H . HNO,. H,O/warm
C: HNO,, KL, HNO,. Fe'H, H,O/H™
D: HNO,. Fe/H". KI. HNO,., H,O/warm
Topic: Chemistry-Section A
Item No: 78
Question ID: | 1449678
Question Type: | MCQ

Question: Q96 6 ANFIRINETLE KA I g § 98 @4,
A ZREATR 1e° |Iae

B FBAe 99° ARTS

C: ZIREAITR 1e° AR

D @63 Ie° Yeag

Topic: Chemistry-Section A

Item No: 79

Question ID: 1449679

Question Type: | MCQ

Question:

Q4I1E WG @ 2IFY FIE1 62T ;




A: ~Mellmemis

B: Elmesw

C: Gloewlews

D: IRERISTARE
Topic: Chemistry-Section A
Item No: 80

Question ID: | 1449680

Question Type: | MCQ

Ge16% 95 G9R GRIKIPE : 69151 QRO A 19° TRy © QIR R aIese RIFle
RAUAIDE |
Q@0l A:Fanoaiae pH §9641R e 999 | 12 2¢16 994 66 9T2Ie 982 e°

Question: = ~
ISl ClaFIeR SSIRIT Qer @ |
QIRE R: TERO2IAG 1 990 219 | 2191 I2IF68 2| F8AIRE 84 FIF |
VUEAIB 96 2RIINEE, AGOIG BAD VLR T IR YR PR FAF |
A: 2@e A G R O 2169 Ua° R, A @ 90 QYIS 2163 |
B: 298 A 8 R O 266 9° R, A @ 90@ Q4I64| g6% |
C: A O% 265 @3 R 9 2169 |
D: A 9% 266 @3 R O 269 |
Topic: Chemistry-Section B
Item No: 81
Question ID: 1449681

Question Type:

Numeric Answer

0.0125 m® 6161 gl e Ig 2IDSLI6T 1&° Eaae @ 10 g figd 6 bar \e° 27°C

69 204 @6 | 14460 TRACn 998 6208 g |

Question:
@&: R=8.3 JK! mol™
(H 98° He @ QQK1G® @9 6298 Q2lgedl 1u @ 4u)
Topic: Chemistry-Section B
Item No: 82
Question ID: 1449682

Question Type:

Numeric Answer

Question:

e FIEee A ;{?X} g 3910 @9 | IZ 2AG9 IR 69 DEAGT A6 ZET
‘a’% 2R FIER AT | ‘a’ Q IRy 6268 |




Topic:

Chemistry-Section B

Item No: 83

Question ID: 1449683

Question Type: | Numeric Answer
Qoaa g

H,F5(g)— Ha(g)+Falg)
AU=-59.6 kI mol™! at27°C.

Question: e - Z - o v «
299 gogell dig Nedingd deQes e2eg (—) kImol™ | [a@GE¢ g
oPEl]

@@: R=8.314 JK ~lmol™!

Topic: Chemistry-Section B

Item No: 84

Question ID: 1449684

Question Type:

Numeric Answer

e 6@4@ AT gl A 1 6HRin 9949 §o9ls’ exuy 629& 3 K 19918

Question: Flaaen A 2 crlimim el 6 TSR ASFAF 629F 6 K | Ky e® Ky@ 2gdle ,
A2l Ky K 6298 1: X| X @ g 6208 |

Topic: Chemistry-Section B

Item No: 85

Question ID: 1449685

Question Type:

Numeric Answer

10 mL @99 ARETS 924 9 2@ KI @ad&6q 217198 €ig 20 ml @ 0.02 M
DS §R4 F192E I | VIS § YOR QIER MITIQ 93 Cu?” Q 6AINRT casiald

Question: x 102 M |
Q&: 2 Cu? +4T — Cuyl, +1,
1,+28,05 »2I'+ 5,07
Topic: Chemistry-Section B
Item No: 86
Question ID: 1449686

Question Type:

Numeric Answer

Question:

aCRSe 9oTal @ figelel @gIe B 60 2EAFIDG sTRUQRES 69I5F @ Q5|
62ed !

C,HsOH + PCl; »C,H,Cl+A

A+PCl; —B




Topic:

Chemistry-Section B

Item No:

87

Question ID:

1449687

Question Type:

Numeric Answer

MnF ;, MnF; «08° MnF, €266 912@ G184 §618] ga 64156 @ 6aee 35 9ia1a

Question: % L = 5
2iclsl €208 B.M | [f@ges g sl
Topic: Chemistry-Section B
Iltem No: 88
Question ID: 1449688

Question Type:

Numeric Answer

Cleldm ADERISRETT G EFIEFIERIQETIR @6m FQEal AN AT @ G|

Question: e = -
(erligm AL q ¢1dlim ) 88T |

Topic: Chemistry-Section B

Item No: 89

Question ID: 1449689

Question Type:

Numeric Answer

100 mL @ CH;CH,MgBr @ \I@ 994 ¢ dgign 929 29919 @6m 2.24 mL | Ie

Question: i 5
ol STP 69 @da g‘ﬂ | Y9 ol | Gaq ceeg mg I
Topic: Chemistry-Section B
Item No: a0
Question ID: 1449690

Question Type:

Numeric Answer

Question:

FRge A ARG FrIQ 6REIT 9@ 6997 UG6EER @ QTR [
BegpigIda. caGdas G . gaddamn., ARaids




